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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the meaning, need and significance of 

Educational Research.  

‘kSf{kd vuqlU/kku ds vFkZ] vko’;drk ,oa egRo dh foospuk 

dhft,A  

2. What is Ex-post facto research ? How is it different 

from experimental and descriptive research ? Clarify 

with help of example. 

?kVuksŸkj vuqlU/kku D;k gksrk gS \ ;g izk;ksfxd ,oa 

fooj.kkRed vuqlU/kku ls fdl izdkj fHkUu gS \ lksnkgj.k 

Li‛V dhft,A  

3. Describe various scales of measurement.  

ekiu dh fofHkUu ekifu;ksa dk o.kZu dhft,A  

4. (a) What are the uses of Chi-square test ?  

dkbZ&oxZ ijh{k.k ds D;k mi;ksx gSa \ 

(b) The following data relate to patients in a mental 

hospital :  

 Rating  

 Improvement No Improvement  

Therapy A 16 28 44 

Therapy B 9 37 46 

 25 65  

Test the hypothesis that method of therapy is 

independent of rating assigned.    



 [ 3 ] S-150 

 (A-1)  P. T. O. 

fuEukafdr iznŸk ,d ekufld fpfdRlky; esa jksfx;ksa 

ls lEcfU/kr gS % 

 fu/kkZj.k  

 lq/kkj lq/kkj ugha  

mipkj A 16 28 44 

mipkj B 9 37 46 

 25 65  

bl ifjdYiuk dk ijh{k.k dhft, fd mipkj fd;s x;s 

fu/kkZj.k ls LorU= gSA  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Clarify the concept of action research by giving 

example.  

mnkgj.k nsrs gq, fØ;kRed vuqlU/kku ds lEizR;; dks Li‛V 

dhft,A  

2. Write a short note on case study.  

dsl LVMh ij ,d laf{kIr fVIi.kh fyf[k,A  
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3. Why review of related literature is necessary ?  

lEcfU/kr lkfgR; dk losZ{k.k D;ksa vko’;d gS \ 

4. Define population, sample and sampling frame.  

tula[;k] U;kn’kZ ,oa U;kn’kZu Ýse dks ifjHkkf‛kr dhft,A 

5. Clarify concepts of reliability and validity. What is 

relationship between reliability and validity ?   

fo’oluh;rk ,oa oS/krk ds lEizR;;ksa dks Li‛V dhft,A 

fo’oluh;rk ,oa oS/krk ds e/; D;k lEcU/k gS \ 

6. When should bi-serial and point-biserial coefficients of 

correlation be used ?  

f}iafäd ,oa fcUnq&f}iafäd lglEcU/k xq.kkad dk iz;ksx dc 

fd;k tkuk pkfg, \ 

7. Write a short note on measures of central tendency.  

dsUnzh; izo`fŸk dh eki ij ,d laf{kIr fVIi.kh fyf[k,A  

8. Clarify concepts of Type-I and Type-II error.  

Vkbi&I ,oa Vkbi& II =qfV ds lEizR;; dks Li‛V dhft,A  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Put a mark of right in front of the correct answer with respect 

to the following seven statements :  

fuEufyf[kr lkr dFkuksa ds lUnHkZ esa Bhd mŸkj ds lEeq[k lgh 

dk fu’kku yxkb,A 

1. External validity is related with :  

(a) Control  

(b) Randomisation  

(c) Generalisation of results 

(d) None of the above  

cká oS/krk lEcfU/kr gS % 

¼v½ fu;a=.k ls  

¼c½ ;kn`PNhdj.k ls  

¼l½ ifj.kkeksa ds lkekU;hdj.k ls  

¼n½ mi;qZDr eas ls dksbZ ugha  

2. When population is finite and can be arranged in some 

order, then which sampling is appropriate ? 

(a) Stratified sampling  

(b) Quota sampling 

(c) Multistage sampling 

(d) Systematic sampling 
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tc tula[;k lhfer gks rFkk mls fdlh Øe esa O;ofLFkr 

fd;k tk lds rks dkSu lh U;k;n’kZu fof/k mi;qDr gksxh \ 

¼v½ Lrjhd`r U;kn’kZu 

¼c½ dksVk (Quota) U;kn’kZu 

¼l½ cgq Lrjh; U;kn’kZu 

¼n½ Øec) (systematic) U;kn’kZu 

3. Formula of computing median is :  
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4. Which of the following statements is true about applied 

research ?  

(a) It focuses on theory building.  

(b) It requires extreme control.   

(c) Its primary focus is on solution of the problem 

and not on theory building.  

(d) None of the above  

O;kogkfjd vuqlU/kku ds ckjs esa dkSu&lk dFku lR; gS \ 

¼v½ bldk /;s; fl)kUr fuekZ.k ij gksrk gSA  

¼c½ blesa vR;f/kd fu;a=.k dh vko’;drk gksrh gSA  

¼l½ bldk eq[; fl)kUr fuekZ.k ij u gksdj leL;k 

lek/kku ij gksrk gSA  

¼n½ mi;qZDr eas ls dksbZ ugha  

5. In a normal distribution, M 1   corresponds to 

which percentile ?   

(a) 34th 

(b) 60th 

(c) 75th 

(d) 84th 
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lkekU; forj.k esa M 1   fuEufyf[kr eas ls fdl 

izfr’krkad ds cjkcj gksrk gS \ 

¼v½ 34ok¡ 

¼c½ 60ok¡ 

¼l½ 75ok¡ 

¼n½ 84ok¡ 

6. In a study the significance of difference between two 

means was calculate using „t‟ test for a large group. 

The value of „t‟ was found to be 2.20. What decision 

would be taken in respect of null hypothesis 0
(H )  ?  

(a) The 0
H  will be retained.  

(b) The 0
H  will be rejected at 0.05 level of 

significance only.  

(c) The 0
H  will be rejected at 0.01 level of 

significance.  

(d) The 0
H  will be rejected at both the levels of 

significance.  

,d v/;;u esa nks e/;ekuksa ds chp vUrj dh lkFkZdrk dh 

tk¡p ,d cM+s lewg ds fy, „t‟ ijh{k.k dk mi;ksx djds dh 

x;h gSA „t‟ dk eku 2-20 ik;k x;kA ‘kwU; ifjdYiuk 

0
(H )  ds lEcU/k esa D;k fu.kZ; fy;k tk,xk \ 

¼v½ ‘kwU; ifjdYiuk Lohd`r gksxhA  

¼c½ ‘kwU; ifjdYiuk dks dsoy lkFkZdrk ds 0-05 Lrj ij 

vLohd`r fd;k tk,xkA  
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¼l½ ‘kwU; ifjdYiuk dks lkFkZdrk ds 0-01 Lrj ij 

vLohd`r fd;k tk,xkA 

¼n½ ‘kwU; ifjdYiuk dks lkFkZdrk ds nksuksa Lrj ij 

vLohd`r fd;k tk,xkA 

7. A researcher wants to study relationship between 

academic achievement and intelligence by controlling 

the influence of motivation. Which statistical technique 

will be appropriate in this situation ?    

(a) Calculating partial correlation  

(b) Calculating multiple correlation 

(c) Calculating correlation ratio 

(d) Calculating biserial correlation   

,d vuqla/kkudrkZ vfHkizsj.kk ds izHkko dks fu;af=r djds 

‘kSf{kd miyfC/k ,oa cqf) ds e/; lEcU/k dk v/;;u djuk 

pkgrk gSA bl fLFkfr esa dkSu&lh lkaf[;dh; izfof/k mi;qDr 

gksxh \ 

¼v½ vkaf’kd lg&lEcU/k dh x.kuk djuk 

¼c½ cgq lg&lEcU/k dh x.kuk djuk 

¼l½ lg&lEcU/k vuqikr dh x.kuk djuk 

¼n½ f}iafäd lg&lEcU/k dh x.kuk djuk 

8. For use of a non-parametric test which of the following 

assumptions has to be satisfied ?  

(a) The variables under reference must be 

dichotomous.  
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(b) No assumption about the nature of distribution is 

required.  

(c) The distribution has to be normal.  

(d) The data should arise from interval measures.  

vizkpfyd ijh{k.k ds mi;ksx gsrq fuEufyf[kr esa ls dkSu&lh 

vo/kkj.kk;sa iwjh gksuh pkfg, \ 

¼v½ lUnfHkZr pj f}foHkkftr gksuk pkfg,A  

¼c½ forj.k dh izd`fr ds ckjs esa fdlh vo/kkj.kk dh 

vko’;drk ugha gksrhA  

¼l½ forj.k lkekU; gksuk pkfg,A  

¼n½ iznŸk] vUrjky ekiuh ls gksus pkfg,A  

Choose True/False :  

lR;@vlR; pqfu, % 

9. Researcher should give priority to primary sources.  

     (True/False)  

vuqlU/kkudrkZ ds izkFkfed lzksrksa dks izkFkfedrk nsuh pkfg,A  

    ¼lR;@vlR;½ 

10. Null hypothesis is required in every type of research.   

     (True/False) 

izR;sd rjg ds vuqlU/kku esa ‘kwU; ifjdYiuk dh vko’;drk 

gksrh gSA   ¼lR;@vlR;½ 
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